78

BT =HhILT—%4 / Technical Datall
#E{TRILY / Recommended torque

FNATUTARILEM3Xx10 / Hexagonal M3-10 : 0.2N+*m

& T B51EF+~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N*m

IMM3x8 / Flat head M3-8 : 0.3N-m ~ 0.6N-m

B4R (EIFEREOO) / Color Type (End of product numberd )

#ERNZA / Components

No. 2% / Part name #E / Pcs #E / Material - REMIE / Color:Finish
1 a—F—Javy 4 TILEH A4 Fr Xk ADC12 DIbN— B (REMELE)
Corner block Diecast aluminium ADC12 Silver-Painted (Unfinished inside)
9 3R ) TILSHRH# A6063S-T5 DIbN— B (REELE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
3 IL—AL4 4 T IV A6063S-T5 DN—- B (REVRLE)
Panel support frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
. ISR ) 7 LR A1100P VILNA—-ZBE (RESENE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 HN— 1 7 LR A1100P DbN—- FE (EEEENE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 THhi— : 7 LR A1100P DIbN— RE (EEEELE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
. aA—F—H—F o TPE (TS5AFY) T390, Jb—, #AE—, LK
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILRHR 4wk 16 BB (UL94V-0) ARy HTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 EfTE R (IMM3 x 8) 16 % Zur LAY
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAFER (FREIRFARILEMS x 10) o &% SEEsAaA—k
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» ER{FER CETFB5LEFAM25 x 7) o % —wh L AYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

ARESLMIHFI IEBREOBE GRS INFEETEICTELES. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

BRAEUIHNFERTE

4/ Title

o]

8% / Code | 7JILZ/7—XR / Aluminium enclosure 3—74—H—F / Corner guard A—F—A—FHEMCI—ILET—2R
: — TAKACHI ELECTRONICS ENCLOSURE CO., LTD. :
S B 2 )L1S— / Silver 75v7% / Black - ‘ — . EMC SHIELDED ENCLOSURE with CORNER GUARD e
S G 2 JLsS— / Silver 5L — / Gray A &5/ Approved #%[X/Checked #1[X]/Created U /Product number
S N 2 )LiN— / Silver FAE— / Navy AUGE66-30-30-1[1 _
S R 2 )LsN— / Silver LYK / Red iR F =1l N—2/Page
{ERK B /Date 2022/11/15 1 71




66+0.3

E view
300+ 0.5 (5—R45 2 / External)

B-B(1:5)
o | . =
C
o
)
. A-A (1:5) C-C(1:5)
'\:?;
™ =
< N 3 2
& +
Lo
3 286 293
o
a v 8
'.! !.-‘J m
253
D view A view C view B view
308 308
=
(-
8
N
2 = + o8 t
% L =) = =) e —
X
I <
)
F view
50 R52
R24
(=T,
’%B o
Lo

4/ Title

HARIHINTERTE —F —H—FHEMCY— L —2 O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD FE 5
7 R/ Approved #%[X|/Checked #X/Created FIZ /Product number =/ weale
1:5

AUGE66-30-30-[101

iR X ol R—/Page
{YER B /Date 2022/11/17 2 /7




C {I#k / C Frame

250

65

58.7

M / Front side

D fl#x / D Frame

Z M / Front side

22.5

s

1

33

33

# E |
A lr,\ ral
& O
5 2-M3EH SR
2-M3 Countersunk
¥R mEEFEHE / Same on the other side.
% E / Back side
A £
& O

@ / Back side

mmd/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 - D300 125
iR X ol R—/Page
1R H/Date 2022/09/27 3 /1




226

16

22.5

L
©
—
2-M2.5
250
X

2-M3FH 577
2-M3 Countersunk

147 / Total 4 pieces

5.5 10.5

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
JL—LA

Panel support frame

o]

752/ Approved

iR

#%[X/Checked

=

#1[X]/Created

F

RIE /Product number

W300

RE/Scale
1:15

{ERL B /Date 2022/08/08

R—/Page

4 717




A /NI / A Panel

2495

53
L
ey r]
N7 A Y]

BR~ti% / Max dim. 242+ 0.5

M / Front side

B /A2 JL / B Panel

M / Front side

5 J
e

N~T3% / Max dim. 32.6+ 0.3

%

ol

3.5

fREES—HMAY

Surface protective film side

4-M25FAZ LR —T
4-Metal sleeve for M2.5

REES — A

Surface protective film side

[H
|

Eﬂ
|

226

45.5

5/ / Back side

5/ / Back side

mnda/Title
BRARUINTFERITE RES O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
752/ Approved #%[X|/Checked #1[X]/Created RIE /Product number RE/Scale
H66 — W300 1:2.5
iR ES & N—T/Page
{ERK B /Date 2022/10/14 5 /1




4-R14.7
s g
g o~

FRE / Front side

289.4

270

/s

194

BE#~ti% / Max dim. 253+ 0.5

4-@A5

A% / Max dim. 253+ 0.5

REE—HMAY

Surface protective film side

/o PAN
~ 194
e} ~

ANg S/

ZZ M / Back side

mn/Title
TAKACHI| MR HhFEHT X HI8— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 5%/ Approved & /Checked #X/Created RIE /Product number RE/Scale
W300 - D300 _ 9
iR x ES2 ) N> /Page
{Em B /Date 2022/07/20 6 / 7




4-R14.7
= 2
g o~

=M / Front side

289.4

270

/s

194

BE#~ti% / Max dim. 253+ 0.5

4-@45

A% / Max dim. 253+ 0.5

REE—HMAY

Surface protective film side

A\ ’k
O O
oy o
Vl \7

ZZ M / Back side

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m#/Title
THhiN—

Bottom cover

o]

7 5%/ Approved

iR

#%[X/Checked

=

#1[X]/Created

F

RIE /Product number

W300 - D300

RE/Scale
1:3

{ERL B /Date 2022/07/20

R—/Page

7 /71






